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Pull out Resource Booklet 91536R from the centre of this booklet.

You should attempt ALL the questions in this booklet.

Answer each question in your choice of English, te reo Maori, and/or Chinese. If you need more room
for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2—6 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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FIRST TEXT: Epriz3ik5%/International sporting events

Read the text on page 2 of the resource booklet. Use it to answer Question One. Answer the
question in your choice of English, te reo Maori, and/or Chinese.

QUESTION ONE

Based on the text, what is the impact of hosting international sporting events on the host
countries? Justify your answers by providing your interpretations of the examples from the text.
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'SECOND TEXT: £k - HiEZE/
An adaptation of Ways of Speaking by Kangyong Cai

Read the text on page 3 of the resource booklet. Use it to answer Question Two. Answer the
guestion in your choice of English, te reo Maori, and/or Chinese.

QUESTION TWO

(@) “Do not cause other people problems. We must find our own solutions.” Explain in your own
words what the ‘problems’ in the text refer to. How can Lanlan solve these ‘problems’?
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THIRD TEXT: X H*HitR%/Summer whitening plan assessor's

Read the text on page 4 of the resource booklet. Use it to answer Question Three. Answer the
question in your choice of English, te reo M&ori and/or Chinese.

QUESTION THREE

“This article encourages Chinese girls to look pale.” Explain in your own words if you agree or
disagree with this statement. Provide examples and evidence from the article (not the images) to
support your argument.
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Extra space if required.
Write the question number(s) if applicable.
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Write the question number(s) if applicable.
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Excellence exemplar for 91536 2015 Total score | 22

Grade .
Q score Annotation
The candidate justifies their answer by considering a range of conclusions in
1 E8 regard to long-term and short-term impacts.
The candidate communicates some of the implied meanings by supporting
> E7 details. The link between impressions and ways of speaking are explored in
evidence. Further links to Lanlan’s context or behavior would strengthen the
answer.
The candidate evaluates the text to form conclusions in regard to the
question. They support their findings with evidence and show awareness of
3 E7 contrasting points of view.
9

Overall the candidate explores a range of implied meanings supported with details. The
conclusions drawn are derived from the text’s points of view.






